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Surface Temperature = 10,000 K
Surface Temperature = 20,000 K
Surface Temperature = 30,000 K
Surface Temperature = 40,000 K
Surface Temperature = 50,000 K
Luminosity = 0 Lsun
Luminosity = 70,000 Lsun
Luminosity = 140,000 Lsun
Luminosity = 210,000 Lsun
Luminosity = 280,000 Lsun
Luminosity = 350,000 Lsun
Surface Temperature = 2500 K
Surface Temperature = 5500 K
Surface Temperature = 11,000 K
Surface Temperature = 24,000 K
Surface Temperature = 50,000 K
Luminosity = 0.0001 Lsun
Luminosity = 0.01 Lsun
Luminosity = 1 Lsun
Luminosity = 100 Lsun
Luminosity = 10,000 Lsun
Luminosity = 1,000,000 Lsun
Luminosity = 10-4 Lsun
Luminosity = 10-2 Lsun
Luminosity = 1 Lsun	
Luminosity = 102 Lsun
Luminosity = 104 Lsun
Luminosity = 106 Lsun
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